ANGLO — CHINESE SCHOOL {(JUNIOR

S

Name ! (. 3

Class * PRIMARY 3 { )

Date : 4" November 2004

20 Questions
40 marks

Total time for Booklets A and B ;1 hour and 20 minutes

DO NOT OPEN THIS BOOKLET UNTIL. YOU ARE TOLD TO DO 80,
FOLLOW ALL INSTRUCTIONS CAREFULLY,
I ANSWER ALL QUESTIONS.. .-
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Section A (40 mm@x‘fg}

Dm “ﬂ mﬁm i5 the correct
ect oval on ?ho

For each questi
answer, ("‘ ~ose the
Optical An fjr‘\\";:;re‘t M ‘?)

4 Stoudy the 2 groups of things below.
grouy G
Group A - Group B

Hutterfly \ﬂ\lmdo‘ hair

Girl ” Rubbaor tyre

Which of the following headings for Group A and Group B is correct?

Group A . - Group B
N “ Animals | Plants
2) Living things _ Non-living things
@ Blants Animals
(4) © Non-living things Living things O
EL & LSF . At
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2 When John tried to catch some fishes in his aquarium with his hand, they swam

away. Which characteristics of living things were the fishes showing?

(8)

{4y

3 - Ahmad is looking for a T-shirt to wear to his soccer practice. It must be fight,
cool and able to absorb his perspiration, Tha Teshirt material that is most

suitable is

4 Bird's

(N
(2)

&)

(A

EL & LSF

A Reproduce

B Move by themselves

C Need alr, water and food

D Respond to changes around them

Aand B only
Aand C only
G and D only
Band D only

e

waol
nylon
cotton

leather

Nest Fern and Moss are examples of

fungi
woody plants
micro-organisms

non-flowering plants

www misskoh com
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5 The diagram shows an electromagnet that is used in a rubbish dump.

The electromagnet can be used to separale pieces of . from tha

ragt of the rubbish, - '

1) steel and iron

(2} - golkdandsiver

€35
A
e

copper and lead

‘—"\T,i fin

Af&,_}
A,
et
5
.y
iy
ek
=

it is not true that Lily has inherited her mother's . :
1 EyEs
£y . nose

& lengthof halr

{4)  ability to roll her tongue

& LER A3
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7 Ali'placed his potted plant in a black box with a small opening on its side. He
placed it in the garden. Alter a week, he obsarved that the stem had grown
towards the small opening.

iy
‘\_:‘:JA [
P
7
N
After one week
This shows that plants .
(1 respond to water by growing towards it
(2)  peed mineral salts and water to. survive
3 respond to sunlight by growing towards it
{4) need alr, water and warmmth to make food
8 The flow chart shows how messages are sent to the braln so that a P
dec:id@ not to drink sour milk.
- i U - ’ ¢ and serls
¢ e %mw\ \ message that the
SOUF "7 s - m {jj(;;]”}“ p . s milk cannot be
\ milk rgan s P\ | ;‘"5\"" -
The lefter Pin the flow chart represents
(1) blood
(2) nerves
(3).  tongue
(4) muscles
El & LSF A-d
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9 Which of the following shows the life cycle of a bulterfly correctly’?

10

M
()
(3)
“)

EL&LSF

%

larva

adult

ol R adult 4/ :}
larva butterily
() (4)
209 Slete
v ~ A o~
(™ ) e b

adut

butterfly

A Gullet

8 Mouth

C  Stomach

[ Largs intestine
Aand G only

Acand D only

Band Conly

Band D only

www misskoh com
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I which parts of the digestive systern is digestive juices not added to the food?
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t Some animals are classified into two groups as shown below,

l Animals

}

b
!
- |
X Y 1
Duck Tiger 1
" Parrot Whale §
Platypus Girafie j

Which of the following is correct?

(1)
(2)

)

(4)

X

i \t o

Birds

L. Mammals

Plant-eaters

Animal-eal

Animals that lay eggs

- Animals that give birth te live voung

Animals that live in the water

Animals that five on land

12 The diagram shows a fish.

b
(=2
R

EL & LSF

A
B
C
D

A-8
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13 Raju accidentally touched his mothar's cactus plant at home. Which sense

organ helps him feel the pain?

1

(4)  Tongue

T4 Lisarused 2 identical magnets to conduct an experiment, ‘dhef hung them 7‘;&
short distance above some steel thumbtacks. The result of the experim ent s

shown in tha ¢

U |
—

Shey (M ying to find ot rtwhnm

4) df themn is made from magnetic material

EL & L&E ] A-7
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16

@)

David found that by stroking an iron nail with

becomes a strongar magmet., Which. of the following actions will ¢

affect on't ho ron 11 stw‘ made into an electromagnet?
A Imorease the number of batteri
B Harmmering the ron nail several m 185
C nerease Hw numb H r of coils around the iron nail
(1) AandB only
{2y  AandConly
3) R md C only ;

(4) A, BandC

What is the function of the plant - part X shown in the dmg;;z‘"ar‘m
A Protect the seeds i inside it
B Hold the plant firmly to the mrnd
C  Absorb water and c:ﬂ&;mfvad TN e:,‘arm--zx‘mf't'&%-.

(1Y Aonly

Aand B only

(3)  Band Conly
(4) A BandC
yod . Mo

www Irnisskoh com

2 magnet more timas, the nail

cause the same
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17

Karen hele

Id- & bar magnet above a paper ¢lip tied 1o 2 we ight by a string, Th

magnet pullad the gaper clip up. When ;hazﬂaC@wﬂ}gheetotpaperbemmemm

the magnet and ¢ upch,thé<Ju3|e¥vwnodxwhw = it was, When she placed an

iron sh

retort s

tang s

~el @t the same place, the clip diopped to the ground
U i S 5

string

e mAGHEE
paper
M_... P
A ’
éf}. .............. paper olip
---------------- e wtring

-, weight

!
¢
K

L

Which of the following statements is correct?

L& LS

Thw@mpawmﬁwwasqﬂaqneﬁ"\Wv‘“
Thesheetofp dp@F%Ml!ﬂdqﬁ&EEWd
M&gmmhmf@mﬁaaanpassﬁumughth@ﬁhp LQ% Jp‘lbufﬂﬁsﬁwﬁwwn
sheet,

Magnetic force « iﬂﬁpaSQTWFOUCthQHKMWHhﬂi hutnotﬂnr“}eeiw

paper,
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18

19

Which of the following objects meke use of magnets?

(1)__ A ard Bonly
(2)  Aand Conly
{3?_\ B and C only
4).. A BandC

(1) lswings.
2y Itrelaxes.
(3)  ltcontracts.

(4) itlengthens,

Zrow oo

www Imisskoh com

The diagram below shows the muscle

e
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i bone of the arm.
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20 Nazri placed some thumbtacks near a horse shoe magnet. The number of

thumbtacks attracted to the different parts of the magnet i3 shown in the table
below.
Position Number of thumbtacks
R 11 ‘
| Y 7
T 1
| U 3

Whieh of th

,(
=2
o

=iy
—
S
&
=
<
s
i
£
—
=
&
gy
S
o]
b
s
IS}
2
i
o
o
=
A
~J

EL & LS At
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Section B {50 marks)

Write your answers to questions 21 to 38 in this bookiet,
Fill in the blanks with the correct answers.

21 Th e graph h below shows the-height of a young plant which was recorded avery

2 days over a period of 8§ d ays.

14 -
12 e PR C .
1 Q - - P “
8 JS R ™ w o s R e B - VL
) i “t‘h v (e m}g
S A
0 WJ ﬂ’\ Y Ll ¥ ‘ 1
Day 2 Day4 Diay &
(a) What was the-diferance inthe h Olqh of the plant from Day 4 to Day 87

Al

(b). The graph tells us that a fiving thing can

22, . Fillin each blank with a suitable word, ' (3]
Allliving fhings produce their own Kind. Ducks lay. - .- which
will hateh mto ducklings and durian treesp y‘a}tmm durians which have -
that will grow into young durian trees. The young will h ave
a ____life cycle as the parent. Hw. repeating patlern ensures
that there will be living things of the same kind around.
U :
. e?{ & Isf B~ Sub-total: ( i
| |
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23 The diagram shows a classif fieation table for living things.

g N
i Plants ]

s

.“‘_‘”“—m—-—m“‘\
e —— L }
With } ( With wanm; gt e
“ Flowe
backbone f j “hackbones L f owering
1 e i

11 { ..
¥ | C
I B Urganism Q ﬁ
S— A , e |
(a) mushrosm™ and “orchid” inthe correct boxes in the classification
[2]
(b) - Give an éxample of Organism Q. -
L
ef & Isf | , . f
B-2 . Subetotal: Ki
SN !
317 of 439.

www Irnisskoh com




24 - Fred conducted several tests on materials P, Q and R to tind out the properties
of each material. Me recorded the lesju}u in the tabls below,

Property ' Material P | Material Q |. M aterial R
Allows light to pass thrm@h ‘ No " No P Yes
‘ i
Breaks :’Chéﬂ dropped No . No No o
V\}aterp roof ﬁ o Yes _ No w_\"“'@;_z: T
Hard ‘o5 | Yes )\"’e».s
(2) Which is the best material for making window panes? (1]

(b)Y Why is this matenal suftable? h 1]

(c) . (,m le the objeet which is most likely to be made of Mamm P. : al

(d) Wood is am example of Material - 17

el & lof B3 Sub-total: }
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25 The diagram shows the stages in the ¢
g k g

i,

mx}?‘b’- .

2
y
A
o
P .
ettt
iy [PPSR
%
;
§

4

(b} What can flowers develop into? (11

seed, need before it can germinate into a seediing? I

| 26 Draw fines to match the functions to the different systems-in the human body.,

%]

““““““““““ A,

i
e
o oy

M“WW" E o,
i Circulatory h
System

cand ramoy
_earbon

’;ﬂm“"“ o ! - . . M‘N\ w‘
~  Resgpiratory
~ System - ;

4

erand o : ‘ Digestive N
to aif parts of the . ' System ,
body. . %

gf & Isf ) RR - P SoRototal:
www Irnisskoh com 319i0f 439.
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27 . The table gives information on three animals, X, Y and Z. A tick { ¥ ) shows that
the animal has that characteristic.

Animal X Animal Y Animat &
= ; — 7 ;
Lays eggs in water N i
Lays eggs on land 1 N
Young resembles adult™ \ v ~ |
|

o

(a) ldentify the following animals by writing X, ¥ or £ in the spaces provided.
Al
Goldfish

Mosquito L
(b) What are the characteristics of Animal Y : 1]
(). Circle the animal that could be Animal Y, b

Mealworm Beetle Hen Rabbit

Cockroach Dolphin

el & Isf Bg Sub-total:

WWW rmisskeh. com R 3f20—or 439.




-y g

28 he diagram shows the life eycles of two animals, Compare them and write down
one similanty and two differences in the boxes below.

Write orie simitarity

e e e o
——

SOV

] 7 ; [y
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20 The diagram shows two similar potted plants. All of the leaves of Plant A are
covered with thick pieces of cardboard, Bc i Mdmt:} are given the same amour
of water and placed in the garden.

Plant A ) Plant B
(a) After two weeks, Plant B was healthy and had many teaves, Will Flant A
be the same? Describe what will %m; pen to Plant A after two wee }x [2]
(b)  What does this show? iy
(¢) When a plant breathes, it takes in _ and gives out
\ (1]
el & Isf B -7 Sub-total;
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30 The diagram shows g balsam plant.

(a)  In thecdiagram, label the part that supports the tvszzxrdtii“nﬁasa-arw‘c% ~‘£hg§x"le1:av<zés§,,
. ﬂ | (11
(b)Y What is the function of the balsam fruft? L 13

el & isf ) BB Sub-total:
WWW.Inisskoh. com ? 323 of 439.
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(b)

32

Complete the table by writing down the sense organs which would be
most useful in identifying the following

sfluationsfoblects?

2]

Situation/Object

Sense Organ

A telephone ringing

A sour fruit

Cold water

Pink flowers

L

Explain why the sense of hearing s most useful to a bat flying in & cave,

Classify the following metals in the table below.

Aluminium

Jeen-

T

L IEeT Steel

Magnetic Materials

Non-magnetic Materials

el & Isf

B— h
B Sub-otal %
1
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65
a3

The diagran shows one of our body systams

)

(a) " What s the fun hmmfthmpartl*:zbwleru\‘ . . 1]

(bj,? ‘?‘f e mmwﬁ tmm ales m Hie mnrtmw of tir“se-;{n::ai‘nftés ?g;ﬂ:t»elii‘éad m ‘m‘m P ' (11

]

el &Isf | B =10 Sub-total
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34 The diagram shows a shape formed by four bar magnets placed together.
The North pole of the first magnet is indicated by the letter 'N'.

N

(a) Inthe diagram, identify the poles of the third and fourth magnets by
writing ‘N’ for North pole or 'S’ for Seuth pele in the correct boxes,

Later, two of the magnets were removed and replaced by iron bars of
the same size.

Both magnets
removed and
Freplaced with
iron bars of the

sadme size

“““““““““

remaining magnets now? : {1

[T

el & Isf SNEE i“';m‘t;)-ftoiaij
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5]
I

Salleh was given a bar magnet and told o remove the iron nails from the
tin container without pouring out or touching the oil.

11 SO THATTET meme |

w

fron nall

{2} Would Salleh be ableto do it?: Explain the answer. - I 'y
(b)  What would happen if a plastic container was used instead of the tin
container? (4

36 Tim stroked an iron hail with a magnetin one direction a few times and found
that it could attract a few paper clips.

f

{ay Without using any other objects or materials, what could Tim do if he
wanted the iron nail to attract more paper clips? _ {1}
{b) Describe one method he could use to demagnetize the iron nail, [
1
el & Isf B 12 Sub-total
i
e
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37

el & Isf

The diagram shows two ring magnets, A and B, 'floating’ above Magnet C
which is resting on a wooden base.

wooden bage -

a) Why does Magnet A appear to float' above Magnet B? 11
b f .

h il

(b)  What should be done to the még;mets% s0 that all of them are attractad to

one another and resting on the wooden basa? M
______________ 2
B.13 Sub-total

|
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N
‘({_\!1 }\ﬁ . ;
38 Devicolled a wire round a wooden malerand connected the ends of the wire 1o 2
battery.

. battery

MW‘

M\-\Wm R M

4
i

(@) Wil the-wooden pencil become a temporary magnet? Why? - 2]

(b} Name an object that can be used instead of the pencil so that it can

R

become an electromagnet. 1]

End of Paper

! SEPREE S SRS

of & fof : 2.4 Sub-tatal
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ANGLO CHINESE SCHOOL (JUNIOR) o
SEMESTRAL ASSESSMENT 2 ~ 2004 )b
PRIMARY THREE SCIENCE

[

01, 2 .
02. 4 12,

o

03, 3 1301
04. 4 14, 2
06. 3 6. 3

3

07, 3 17.
08, (2) 18.
09. 3 19.
10. (2) 20,

In G230

21) a) 9 o.m. h) grow by ditself,
22) eggs

seeds

similar
23Y mushroom

orchid

b) Molluscs

24) a) Material R

b)

Material R is suitable to make window panes because it
allows light to pass through. .

c¢) Cirle ten -ents coin.
d) Q

25) a) 2 1 4o 3 b)Y Flowers would develop dntoe fruits.

¢) Aiy, water and warmth.

26) ' 27)

™ Ll
& ) L.
X

bY Tt lays eggs on land 3
vounyg resembles the adult

o) Circle hen

28) They both lay egpgs

www Imisskoh com L owabter
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29

31)

33)

347

36)

adNo. Plant A would die after two weeks because it cannot
make food for ditself without oxvygen.

b)Y The plant needs sunlight to make food.

c} ooxveen

carbon dioxide

to reproduce.

a) Ears BY Tt will not be ‘easy to see in a dark
. cave, o its sense of hearing would
iongue be useful to know where it ds going.

Tron Aluminium

Steel : Tﬁn

aY It helps to protect your brain,

b) Allow our arms and legs to move back and forth in one
divectis

&) N !
LS
“WW\%‘WM“« will yemain the Same.

=t pubs the mapnet close ta the oil, the
magnetic 1s would be attracted to. the magnet and
out of the tin countainer.

b) The gawme thirg that happened in (a).
a).Sereke the iron nail a few more times.
b) Heat it with fire.

a) The same poles are facing each other.
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